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Review 

The primary purpose of Matthew 1&2 is to establish Jesus’ right to Israel’s 

_____________. 

After establishing Jesus’ ________ human ancestry in vss. 1-17, Matthew 

moves immediately into establishing His ________. 

 

Apart from Jesus’ being both human and divine, there is no __________. 

 

The essence and the ________ of the gospel is that God became man and that, 

by being both wholly God and wholly man, He was able to ___________ men to 

God. 

 

Matt. 22:42 – “What do you think about the Christ, whose son is He?” 

An Amazing Birth 

Biblical history records some amazing and spectacular _________, including: 

 

 

To disregard the virgin birth is to disregard Christ’s _________. 

 

 

___________ answer to Mary is of decisive significance for our understanding of 
the virgin birth: “The Holy Spirit will come upon you, and the power of the Most 
High will overshadow you; and for that reason the holy Child shall be called the 
Son of God. (Luke 1:35). 
 
Incarnation =  

Why the God-Man? 

Christian theology is an explanation of ______ Christ is and what it means to 

have ________ in Him. 

Jesus became man in order to _____ for those who were to __________ in Him. 

Atonement =  
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Atonement =  



The need for atonement is brought about by three things: 

1. The __________________ of sin 

 

2. The _______________ of sin 

 

3. Man’s ____________ to deal with sin 

 
 
Only one who was _____ _________ of offending can offer an appeasement to 

_____________ the offender with the one offended. 

 

Jesus’ name (“___________ _______”) looks forward to the atonement.  Notes: 

 

 

 
Why did salvation have to be achieved this way? 

1. Salvation had to be achieved by ______, for no one else _________ 

achieve it. 

 
 

2. In apparent _____________, salvation must also be achieved by _____. 

 
 

In Christ God Himself was satisfying His own __________. 
 
Two primary conclusions flow from this explanation of the Incarnation: 

1. According to the Scriptures __________ and not _____________ is the 

center of Christianity. 

“The crucial significance of the cradle at Bethlehem lies in its place in 
the sequence of steps down that led the Son of God to the cross of 
Calvary, and we do not understand it till we see it in this context.”  
– H. E. Guillebaud 

2. If the _________ of Christ on the cross is the true meaning of the 

Incarnation, then there is no _________ without the ________. 

The good news is that _____ has been ________ with. 
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